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SO(2), d=4, N=6, r=1, i=1, j=0
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Imersao para SO(2), d=4, N=8, r=1, ang=120, i=2, j=10.

Imersao para SO(2), d=4, N=8, r=1, ang=30, i=2, j=10.




Imersao para SO(2), d=4, N=8, r=1, ang=60, i=2, j=10.

Imersao para SO(2), d=4, N=8, r=1, ang=90, i=1, j=10.




Imersao para SO(2), d=4, N=8, r=1, ang=30, i=1, j=10.
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Imersao para SO(2), d=4, N=8, r=1, ang=60, i=1, j=10.




4, N=8, r=1, ang=180, i=2, j=10.

Imersao para SO(2), d




Imersao para SO(2), d=4, N=8, r=1, ang=70, i=2, j=5.

Imersao para SO(2), d=4, N=8, r=1, ang=50, i=2, j=5.




Imersao para SO(2), d=4, N=8, r=1, ang=60, i=2, j=5.

Imersao para SO(2), d=3, N=8, r=1, ang=90, i=2, j=10.




Imersao para SO(2), d=3, N=8, r=1, ang=30, i=2, j=10.

Imersao para SO(2), d=3, N=8, r=1, ang=50, i=2, j=10.










Chi-quadrado para SO(2), d=4, N=8, r=1, ang=120, i=2, j=10.
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Chi-quadrado para SO(2), d=4, N=8, r=1, ang=30, i=2, j=10.
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Chi-quadrado para SO(2), d=4, N=8, r=1, ang=60, i=2, j=10.
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Imersao para SO(2), d=4, N=6, =1, ang=60, i=2, j=10.

Imersao para SO(2), d=4, N=6, =1, ang=30, i=2, j=10.

Imersao para SO(2), d=4, N=6, =1, ang=70, i=2, j=10.

Imersao para SO(2), d=4, N=6, =1, ang=80, i=2, j=10.




Imersao para SO(2), d=4, N=6, =1, ang=90, i=2, j=10. Imersao para SO(2), d=4, N=6, r=1, ang=180, i=2, j=10.

Imersao para SO(2), d=4, N=6, r=1, ang=150, i=2, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=40, i=2, j=10.




Imersao para SO(2), d=4, N=8, r=1, ang=50, i=2, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=80, i=2, j=10.

Imersao para SO(2), d=4, N=8, r=1, ang=60, i=2, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=90, i=2, j=10.

Imersao para SO(2), d=4, N=8, =1, ang=70, i=2, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=120, i=2, j=10.




Imersao para SO(2), d=4, N=8, r=1, ang=150, i=2, j=10. Imersao para SO(2), d=4, N=6, =1, ang=40, i=1, j=10.

Imersao para SO(2), d=4, N=8, r=1, ang=180, i=2, j=10. Imersao para SO(2), d=4, N=6, =1, ang=50, i=1, j=10.

Imersao para SO(2), d=4, N=6, =1, ang=60, i=1, j=10.

Imersao para SO(2), d=4, N=6, =1, ang=30, i=1, j=10.




Imersao para SO(2), d=4, N=6, =1, ang=70, i=1, j=10. Imersao para SO(2), d=4, N=6, r=1, ang=120, i=L1, j=10.

Imersao para SO(2), d=4, N=6, =1, ang=80, i=1, j=10. Imersao para SO(2), d=4, N=6, r=1, ang=150, i=L1, j=10.

Imersao para SO(2), d=4, N=6, r=1, ang=90, i=1, j=10. Imersao para SO(2), d=4, N=6, r=1, ang=180, i=L1, j=10.




Imersao para SO(2), d=4, N=8, r=1, ang=30, i=1, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=60, i=1, j=10.

Imersao para SO(2), d=4, N=8, =1, ang=40, i=

Imersao para SO(2), d=4, N=8, =1, ang=70, i=1, j=10.

Imersao para SO(2), d=4, N=8, =1, ang=50, i=1, j=10. Imersao para SO(2), d=4, N=8, =1, ang=80, i=1, j=10.




Imersao para SO(2), d=4, N=8, =1, ang=90, i=1, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=180, i=L1, j=10.

Imersao para SO(2), d=4, N=8, r=1, ang=120, i=1, j=10.

Imersao para SO(2), d=3, N=6, =1, ang=30, i=2, j=10.







Imersao para SO(2), d=3, N=6, r=1, ang=150, i=2, j=10. Imersao para SO(2), d=3, N=8, =1, ang=40, i=2, j=10.

Imersao para SO(2), d=3, N=6, r=1, ang=180, i=2, j=10. Imersao para SO(2), d=3, N=8, =1, ang=50, i=2, j=10.

Imersao para SO(2), d=3, N=8, =1, ang=30, i=2, j=10. Imersao para SO(2), d=3, N=8, =1, ang=60, i=2, j=10.




Imersao para SO(2), d=3, N=8, =1, ang=70, i=2, j=10. Imersao para SO(2), d=3, N=8, r=1, ang=120, i=2, j=10.

Imersao para SO(2), d=3, N=8, =1, ang=80, i=2, j=10. Imersao para SO(2), d=3, N=8, r=1, ang=150, i=2, j=10.

Imersao para SO(2), d=3, N=8, =1, ang=90, i=2, j=10. Imersao para SO(2), d=3, N=8, r=1, ang=180, i=2, j=10.




Imersao para SO(2), d=3, N=6, =1, ang=60, i=1, j=10.

Imersao para SO(2), d=3, N=6, =1, ang=30, i=1, j=10.

Imersao para SO(2), d=3, N=6, =1, ang=70, i=1, j=10.

Imersao para SO(2), d=3, N=6, =1, ang=40, i=1, j=10.

Imersao para SO(2), d=3, N=6, =1, ang=80, i=1, j=10.

Imersao para SO(2), d=3, N=6, =1, ang=50, i=1, j=10.




Imersao para SO(2), d=3, N=6, =1, ang=90, i=1, j=10. Imersao para SO(2), d=3, N=6, r=1, ang=180, i=L1, j=10.

Imersao para SO(2), d=3, N=6, r=1, ang=120, i=L1, j=10. Imersao para SO(2), d=3, N=8, =1, ang=30, i=1, j=10.

Imersao para SO(2), d=3, N=6, r=1, ang=150, i=L1, j=10. Imersao para SO(2), d=3, N=8, =1, ang=40, i=1, j=10.




Imersao para SO(2), d=3, N=8, =1, ang=50, i=1, j=10. Imersao para SO(2), d=3, N=8, =1, ang=80, i=1, j=10.

Imersao para SO(2), d=3, N=8, =1, ang=60, i=1, j=10. Imersao para SO(2), d=3, N=8, =1, ang=90, i=1, j=10.

Imersao para SO(2), d=3, N=8, =1, ang=70, i=1, j=10. Imersao para SO(2), d=3, N=8, r=1, ang=120, i=L1, j=10.




Imersao para SO(2), d=3, N=8, r=1, ang=150, i=1, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=60, i=2, =5.

Imersao para SO(2), d=3, N=8, r=1, ang=180, i=L, j=10. Imersao para SO(2), d=4, N=8, r=1, ang=70, i=2, j=5.

Imersao para SO(2), d=4, N=8, r=1, ang=50, i=2, j=5. Imersao para SO(2), d=4, N=8, r=1, ang=50, i=1, =5.




Imersao para SO(2), d=4, N=8, r=1, ang=60, i=1, =5. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=40, =2, j=10.

Imersao para SO(2), d=4, N=8, r=1, ang=70, i=1, =5. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=50, =2, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=60, =2, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=30, i=2, j=10.




Chi-quadrado para SO(2), d=4, N=6, r=1, ang=70, i=2, j=10. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=120, i=2, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=80, =2, j=10. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=150, i=2, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=90, =2, j=10. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=180, i=2, j=10.




Chi-quadrado para SO(2), d=4, N=8, r=1, ang=30, =2, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=60, =2, j=10.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=40, =2, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=70, =2, j=10.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=50, =2, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=80, =2, j=10.




Chi-quadrado para SO(2), d=4, N=8, r=1, ang=90, i=2, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=180, i=2, j=10.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=120, i=2, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=30, i=1, j=10.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=150, i=2, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=40, i=1, j=10.




Chi-quadrado para SO(2), d=4, N=6, r=1, ang=50, i=1, j=10. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=80, i=1, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=60, i=1, j=10. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=90, i=1, j=10.

Chi-quadrado para SO(2), d=4, N=6, r=1, ang=70, i=1, j=10. Chi-quadrado para SO(2), d=4, N=6, r=1, ang=120, i=1, j=10.

0.025 -




Chi-quadrado para SO(2), d=4, N=6, r=1, ang=150, i=1, j=10. Chi-quadrado para SO(2), d=4, N=8, =1, ang=40, =1, j=10.
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Chi-quadrado para SO(2), d=4, N=6, r=1, ang=180, i=1, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=50, i=1, j=10.
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Chi-quadrado para SO(2), d=4, N=8, r=1, ang=30, i=1, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=60, i=1, j=10.




Chi-quadrado para SO(2), d=4, N=8, r=1, ang=70, i=1, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=120, i=1, j=10.
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0.005
0.004
0.003

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=80, i=1, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=150, i=1, j=10.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=90, i=1, j=10. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=180, i=1, j=10.




Chi-quadrado para SO(2), d=3, N=6, r=1, ang=60, =2, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=30, i=2, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=70, =2, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=40, =2, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=80, =2, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=50, =2, j=10.




Chi-quadrado para SO(2), d=3, N=6, r=1, ang=90, i=2, j=10. Chi-quadrado para SO(2), d=3, N=6, r=1, ang=180, i=2, j=10.

0.03 -

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=120, i=2, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=30, =2, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=150, i=2, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=40, =2, j=10.
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Chi-quadrado para SO(2), d=3, N=8, r=1, ang=50, =2, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=80, =2, j=10.

Chi-quadrado para SO(2), d=3, N=8, r=1, ang=60, =2, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=90, =2, j=10.

Chi-quadrado para SO(2), d=3, N=8, r=1, ang=70, =2, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=120, i=2, j=10.




Chi-quadrado para SO(2), d=3, N=8, r=1, ang=150, i=2, j=10. Chi-quadrado para SO(2), d=3, N=6, r=1, ang=40, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=8, r=1, ang=180, i=2, j=10. Chi-quadrado para SO(2), d=3, N=6, r=1, ang=50, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=60, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=30, i=1, j=10.




Chi-quadrado para SO(2), d=3, N=6, r=1, ang=70, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=120, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=80, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=150, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=90, i=1, j=10.

T S
AT

Chi-quadrado para SO(2), d=3, N=6, r=1, ang=180, i=1, j=10.




Chquadrado para SO2), 4=3, N=6, =1, ang=30, =1, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=60, i=1, j=10.

‘V""l “”‘z@&)

Chquadrado para SO2), d=2, N=6, =1, ang=40, =1, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=70, i=1, j=10.

Chquadrado para SO2), 4=3, N=6, =1, ang=50, =1, J=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=80, i=1, j=10.




Chi-quadrado para SO(2), d=3, N=8, r=1, ang=90, i=1, j=10. Chi-quadrado para SO(2), d=3, N=8, r=1, ang=180, i=1, j=10.

Chi-quadrado para SO(2), d=3, N=8, r=1, ang=120, i=1, j=10.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=50, =2, j=5.

Chi-quadrado para SO(2), d=3, N=8, r=1, ang=150, i=1, j=10.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=60, =2, j=5.




Chi-quadrado para SO(2), d=4, N=8, r=1, ang=70, i=2, j=5. Chi-quadrado para SO(2), d=4, N=8, r=1, ang=70, i=1, j=5.

Chi-quadrado para SO(2), d=4, N=8, r=1, ang=50, i=1, j=5.
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Chi-quadrado para SO(2), d=4, N=8, r=1, ang=60, i=1, j=5.
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